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Determine whether the statement is true or false.
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Evaluate the algebraic expression for the given value or values

of the variable(s).
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Evaluate the exponential expression.
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Evaluate the rational exponent expression.
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Simplify by reducing the index of the radical.
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12) The formula C = (l" 32) expresses the

1t0r\shpbtv\cc n Fahrenheit temperature, F,
and Celsius temperature, C. Use the formula to
conver t113°F to its equivalent temperature on the
Celsius scale.
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Perform the indicated operations. Write the resulting
polynomial in standard form.
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26) Write a polynomial in standard form that
represents the area of the shaded region.
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